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Question 1

Question Type: MultipleChoice

Which two statements accurately describe policy attachment in Oracle Web Services Manager (OWSM)?

Options:

A- The order in which policies are attached to a subject determines the order in which the policies are executed.
B- JDeveloper groups the policies that can be attached into five categories of interceptors.
C- Multiple WS-Addressing policies can be attached to a policy subject.

D- In Enterprise Manager Fusion Middleware Control, a security policy can be attached to a web service and it can be either enabled or
disabled.

Answer:

A C

Explanation:

http://docs.oracle.com/cd/E12839 01/web.1111/b32511/attaching.htm



Question 2

Question Type: MultipleChoice

A user has configured Mediator M1 to receive and route product information from System X into its internal applications in chronological
order. For each product, M1 receives one "create" event followed by any number of "update " events from an AQ Queue via a JIMS
adapter. M1 can receive updates to the product at any time of day.

The user claims that incoming messages for each product are received and processed in the correct chronological order 95 % of the
time. However, the messages are being processed out of order 5 % of the time. This results in critical errors in the target systems. The
user expects all messages pertaining to a product to be unconditionally processed in the order of arrival at M1.

What causes this discrepancy?

Options:

A- The user is running on a four-node SOA cluster and has not configured the inbound JMC adapter to be a singleton.

B- The user is running on a single-node SOA environment but has configured the number of inbound adapter threads to be a value
greater than 1.

C- The given Mediator configuration does not address this sequencing requirement.



D- The user has configured resequencer worker threads to a value greater than 1 for the Mediator service engine.

Answer:

C

Explanation:

http://lwww.ateam-oracle.com/wp-content/uploads/2014/02/Oracle-Mediator-Resequencer.pdf

Question 3

Question Type: MultipleChoice

As an Oracle SOA Suite composite moves through the software development life cycle, certain environment-specific changes must be
made to the composite configuration from deployment to deployment.

Which feature can help you capture and effect these changes?

Options:




A- Configuration Plans
B- Deployment Plans
C- Domain Value Maps

D- Property Files

Answer:

A

Question 4

Question Type: MultipleChoice

Which two are correct statements about the Oracle Cloud Adapter for Salesforce.com?

Options:

A- It uses either HTTP basic authentication or username token authentication to perform secure interaction with Salesforce.com.
B- It can make both synchronous and asynchronous calls through the Salesforce.com SOAP API.

C- Behind the scenes, it uses the SOAP API provided by Salesforce.com.



D- The design-time tooling generates a WSDL that is different from the enterprise WSDL available from Salesforce.com.

Answer:

Question 5

Question Type: MultipleChoice

Which two statements are correct about cluster support for Oracle SOA Suite 12c applications?

Options:

A- A cluster appears to clients as multiple WebLogic Server instances.

B- The server instances in a cluster must all run on the same machine.

C- You can scale a cluster by adding machines to the cluster to host additional server instances.
D- Server instances in a cluster can run different versions of WebLogic Server.

E- You can create a cluster by using WLST, the WebLogic Server Administration Console, or Enterprise Manager Fusion Middleware
Control.



F- For management purposes, you can split a cluster across multiple domain.

Answer:

D, E

Explanation:

http://docs.oracle.com/cd/E17904_01/core.1111/e10105/getstart.htm

Question 6

Question Type: MultipleChoice

Your company has a checkCredit service used in the sales process and your organization plans to roll out a new sales mobile
application.

Identify two approaches that you can use to develop the new mobile application.

Options:




A- Develop a template for the checkCredit service.
B- Expose the checkCredit service with a REST interface.
C- Create a BPEL subprocess for the mobile application request.

D- Use JSON for payload.

Answer:

Explanation:

https://docs.oracle.com/middleware/1213/soasuite/develop-soa/soa-templates.htm

Question 7

Question Type: MultipleChoice

When you create an assert in a test case, you can specify a Compare By rule of xml-identical or xml-similar. The rule designates the
strictness of the comparison.

If you choose xml-similar, identify two conditions that will cause the comparison to fall.



Options:

A- The namespaces are the same, but the namespace prefix is different.
B- An element has the same child attributes, but they are in a different order.
C- An element has a different name, but the same child attributes are in the same order.

D- The namespaces are different, but the namespace prefix is the same.

Answer:

D

Question 8

Question Type: MultipleChoice

You expand a business rule component that a colleague added to the BPEL process. You see an Assign element named
Facts_To Rule_Services.

Which statement is true about this assign element?



Options:

A- It was added automatically based on entries that your colleague made in the dialog box that appeared when the business rule
component was added to the BPEL model.

B- Your colleague manually added this Assign element after adding the business rule component to the BPEL model.

C- The Assign element was automatically added when your colleague manually added the corresponding Rule_Service_To_Facts
Assign to the BPEL model.

D- You can delete this Assign because it was created for documentation purposes only.

Answer:

A

Question 9

Question Type: MultipleChoice

EPN is the internal structure of an OEP application and is displayed as a top-down hierarchy in a graphical editor. Which two statements
are correct about the Event Processing Network (EPN) in Oracle Event Processing (OEP)?



Options:

A- EPN is the internal structure of an OEP application and is displayed as a top-down hierarchy in a graphical editor.

B- EPN defines an OEP application and is built using the EPN Editor in JDeveloper.

C- EPN is an interconnection of adapters, channels, event beans, and CQL processors that make up an OEP application.
D- EPN is a part of the Event Delivery Network (EDN) facility that supports event-driven architecture for SOA Suite.

E- Every event that arrives at the OEP server creates a new instance of an EPN.

Answer:

C

Explanation:

https://docs.oracle.com/middleware/1213/eventprocessing/CEPGS/GUID-2A4AD5B8-61DD-4BA1-8BC6-603026D462FA.htm

Question 10

Question Type: MultipleChoice

Which two statements are true about stakeholders working with Business Process Workspace?



Options:

A- Process owners manage rules for users and groups.
B- Process owners can act on tasks belonging to their process, but are assigned to other users.
C- Process patrticipants can delegate work to another user.

D- Administrators typically get involved to handle task escalations.

Answer:

B,D

Explanation:

http://docs.oracle.com/cd/E15586_01/integration.1111/e10224/bp_worklist.htm

Question 11

Question Type: MultipleChoice




Which statement is true about the relationship between the WSDL and the JCA binding file when working with an Oracle Adapter at
design time?

Options:

A- The WSDL references the appropriate JCA binding file for each applicable operation in the WSDL "binding" element.
B- All operations defined in the WSDL must be mapped to activation specifications in the JCA binding file.
C- The JCA binding file defines default adapter property values for each applicable operation defined in the WSDL.

D- There is no direct relationship between the WSDL and the JCA binding file at design time.

Answer:

C

Question 12

Question Type: MultipleChoice

Which statement is true about the skip condition in a BPEL activity?



Options:

A- The activity gets executed hen the skip condition expression evaluates to True.
B- The skip condition expression is evaluated before the activity instance is created.
C- The activity gets executed when the skip condition expression evaluates to False.

D- The activity gets executed when the skip condition expression throws a fault.

Answer:

C

Explanation:

https://docs.oracle.com/cd/E14571_01/dev.1111/e10224/bp_conditn.htm
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